ASS, REC, BY:	REF: C4/	FC[1800107	1 / Agbei	Special Instruction	Ľ	
Surveyor	ASS	IGNMENT (O	ffice)			
From (Person): [WS KANEN	Tan of	FCL		Date/Time:	17012018	6-Ulpm
Estimated Cost:		Bill to:				
OD/III/WS/TPRES/OD	RES/EVA/INV	/MV/CS				
To Inspect Vehicle No:		377211	Ins	sured: 9	1A 7256H	
at Workshop m/s	Hew Hook T	ick	<del></del>	Tel: 6747		
of	31k 1 Kalu 1	Bukit Avel6	#01-43		<u> </u>	
Policy No: 0/18089	3936 Mt SH	 Clain		D180001130n	175H	
Sum Insured:	· · · · ·		cess:			
Make of Veh: (Client's Record)				D.O.A	15012018	
CA / REV / REP. / REV 2	4 HRS COO			H O D End	orsement:	
Date/Time: 17012018 6.08	Person Co	ntacted: Si	akyi .	Vehicle (D)		<del></del>
Date/Time Action/Instructi	on ( 🗸 ) E	Stinute.				
	U - (13/A		/K1/43	<del>-</del>	DVA: 13	<del>0</del> 118
1961 1956H	- CS/TCLT	OT PECCES	j.		QA: [51]	<u> </u>
18/11/8@4/47 lubr	med Karen	, we are pe	nding e	strute from	Verphivar	
23/1/18@7.77m V.	evised to	Vaven Tan	by c	wail,	······································	
Ls \$12	30, 12 de	yz (Fed )	5 9474	1.80, 44	7,7	
!	<del>//</del>	<u> </u>			- <del>/</del>	<del></del>

22/03/2002

	211	, N	SIL	3,773
-3J	<b>31</b> 3	3. * . '	تتدو	<u>. ١1</u>

From: Date:	Van No. SKZ3272 W Yr Ragn: 2016 Jan.
Estimated Cost:	Type: M.Cay / M.Cycle / Bus / Van / Lorry / Taxi / Prime Mover /
OD / TP / WS / TP RES / OD RES / EVA / INV / MV	Truck i Trailer or
To inspect Vehicle No:	Make: Mazdu 3 0.0 1496
at Workshop m/s	Colour While · AC Insured / Std / NI / NA
of	Sp.Reading 66644. TrRadic: Insured / Std / NI / NA
Insured:	Eng/No:
Policy No.	C/No: JM6BM42A8G0331676.
Claims No.	Gen. Cond: 🍘 / Fair / Poor / Burnt
Sum Insured: Excess:	Steering: Inceder / Jammed / Leaked / Burnt or
(Client's Record)	Brake: Inorder / Jammed / Leaked / Burnt or
Make of Veh:	Modi: Nil / S/Rim (STD A/Rim) or
·	Tyre Size: F: 205/60R/6 Compasal R: 205/60R/6 Toyo
(Policy Condition)	R: 205/60R/6. Toyo
Remark: The veh had commenced its N/S O/S	BS / DUN / EXNOVA / GY / FS / LIZA / MIC / OHTSU / PIR / SUMI /
repair at the time of inspection.	TOYO/YOKO or sompassit.
Bal. or Market Value: 78/4.	<u>Front</u> <u>Rear</u>
IDAC Accident Rport: Consistent? : Yes or No	R/Bal. 16 mm R.Bal. 06 mm
GIA / PR Seen: Consistent? : Yes or No	L/Bal. 06 mm
Est. Repairs:	D.O.A. D.O.I. 17/01/18
Lum Sum: % 3 Val.: Yes or No	Survey held at NHT-
CA / REV / REP. / 24 HRS	Des. of Damages Fit Rear / O/S / N/S / U/C / Rooftop or
Vehicle: IN / OUT	
Date: Person Contacted:	The U/C / Chassis frame / Body Structure affected due to collision.
Date / Time   Action / Instruction   TP 1st Cap .	
MV:78K	-
PV: 53K	
Next: 25k.	
PECTIVE 3 2-0-FEC-2018	
Date/Time, File Pass to? : Preli. Report	Days Of Repair: 12 16X15=240
18 7 tyrest : Final Report	Resurvey No. of Trip: Survey Fee: 170+740
Cate/Time, File Raturn to?	
24 Add Fee	
70	Interview -\$ Props(SX)   Let
Report Format:	Tech in /s \$ tres
Lump Sum / 1.8.1: (3 12300	Weekend S
,	-76/1/12 692



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

		RANCE LTD	Ref : CS/FCI1800107	217 140	
	OBINSON ROAD O1 CITY HOUSES	SINGAPORE 068877	Date: 17-01-2018		
			Code: FCI2		
1.			rs :- THIRD PARTY CLAIR		
<del></del>	Insured Veh.	SHA 7256H	Veh. Inspected	SKZ 3272U	
	Policy No.		Coverage (\$)	0.00	
	Claim No.	D18000430MFSH	Excess (\$)	0.00	
	Assign From	CWS (KAREN TAN)	Assign Date	17/01/2018	
2.	Vehicle		rticulars & Condition		
	Make & Model		c.c	0	
	Engine No.	HIDDEN	Year of Reg.		
	Chassis No.		Colour		
	Odometer -		Steering		
	Brakes		Modification		
	General				
3	- Many		ditions of Tyres		
	· · · · · · · · · · · · · · · · · · ·	Size	Make	Balance	
	R/H Front Tyre			mm	
	L/H Front Tyre			mm	
	R/H Rear Tyre			mm	
	L/H Rear Tyre			mm	
1.	The same of the same	Descrip	otion of Damages		
5.		. ms. 1 mQ s	eral Information		
	Accident Date		Inspection Date	17/01/2018	
		NEW HOCK TECK MOTOR F			
	•	1 KAKI BUKIT AVENUE 6 #0° SINGAPORE 417883		Т	
a.			Remarks		

# Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars

Owner ID Type: Company

Owner ID: 2911Z

Vehicle Details

Vehicle No.: SKZ3272U

Vehicle to be Exported: No

Intended De-registration Date: 16 Jan 2018

Vehicle Make: MAZDA

Vehicle Model: MAZDA3 4-DOOR SEDAN 1.5L SP.6EAT

Primary Colour: White

Manufacturing Year: 2015

Engine No.: P520344362

Chassis No.: JM6BM42A8G0331676

Maximum Power Output: 88.0 kW (118 bhp)

Open Market Value: \$15,269.00

Original Registration Date: 19 Jan 2016

First Registration Date: 19 Jan 2016

Transfer Count: 0

Actual ARF Paid: \$10,269.00

Intended PARF Rebate Details

PARF Eligibility: Yes

PARF Eligibility Expiry Date: 18 Jan 2026

PARF Rebate Amount: \$7,701.00

Intended COE Rebate Details

COE Expiry Date: 18 Jan 2026

COE Category: A - Car up to 1600cc & 97kW (130bhp)

COE Period(Years): 10

QP Paid: \$56,989.00

COE Rebate Amount: \$45,621.00

Total Rebate Amount: \$53,322.00

The information contained herein is correct as at 16 Jan 2018

ОК

#### SGCARMART.COM

Login Sign up

**New Cars Used Cars** Sell My Car Directory **Products** Articles Forum **Tools & Tips** 

# Post FREE Ad to Sell Your Used Items!

Have preloved items cluttering around your house? Sell it on Marketplace. Posting an advertisement is FREE!

Post an Advertisement Sell it yourself! Advertise it at just \$58 until it's SOLD! 2009 Toyota Rush 1.5X A At \$19.8K



Very Low Mileage And In A Good And Acodent-free Condition Direct Owner



Browse by Category ▼

\* Back (12) Next »

Sort by Date Posted

▼ 20 results/page ▼

24 vehicles

Post an Ad

Mazda 3

Model

Ways of Selling

Ad Godel Skandt - 📓

Maso

Price Depreciation

Reg Dati. 2016

Veh Type

Any

50.01 4 Available

Search Selection

Mazda 3

Advertiser Login

\$82,800

Any

\$9,360 /vr

22-Feb-2016 1,496 cc 35,000 km

Mileage

Sedan

Available

Mazda 3 1.5A Deluxe

Eng Cap

Latest Arrival! Priced To Sell! 1 Careful Owner, Low Mileage Done At 35000km, 5 Years Warranty From Eurokars, Full Agent Service History, 3 Years Free Servicing Package, Low Depreciation At \$9200 Per ...

Horizon Motoring

Posted: 14-Jan-2018 Tags: 2016 Mazda 3, Mazda 3, Mazda, 3, Used Mazda



Mazda 3 1.5A Deluxe

\$86,500

\$9,860 /yr

29-Feb-2016

1,496 cc

18,221 km

Sedan

Sedan

Available

PREMIUM CO

Rare! Dark Blue Mazda 3 (Deluxe Model). Serviced At Eurokars With Valid Warranty, Last On Nov 17. Super Low Mileage Done 18221km. Totally Like New. 1 Lady Dentist Owner. 100% Accident Free, Call Now!

Lake View Credit Pte Ltd

Posted: 14-Jan-2018 Tags: 2016 Mazda 3, Mazda 3, Mazda, 3, Used Mazda



Mazda 3 SP 1.5A

\$73,500

\$8,360 /yr

17-Mar-2016

1,496 cc

Available

Elegant White, With Sunroof, One Owner Only, Serviced By Agent, Low Maintenance Cost, Very Well Maintained, With Warranty, Drive Away With Minimum Down Payment, Flexible In House Loan Packages Availab...

Posted: 15-Jan-2018 Tags: 2016 Mazda 3, Mazda 3, Mazda, 3, Used Mazda



Mazda 3 SP 1.5A

\$84,999

\$9.540 /vr

29-Mar-2016

1.496 cc

Available

PREMIUM AD

High Spec! 1 Owner, Full Agent Servive, Under Mazda Warranty, Premium 110 Points Check, Flexible Finance Package Can Be Arranged, Please SMS Now For Viewing And More Details!

Premium Automobiles

Posted: 04-Jan-2018 Tags: 2016 Mazda 3, Mazda 3, Mazda, 3, Used Mazda



Car Sellino

Car Aftermarket



On The Move

Lifestyle





Mazda 3 1.5A Deluxe

\$82,800

\$9,260 /yr

15-Apr-2016

1.496 cc

31,000 km

Sedan

Available

1 Owner And Lowest Mileage. Good Grey Mazda 3! Responsive And Reliable. Full Agent Serviced And Still Under Warranty, Condition As Good As New! Well Maintained By Owner! See To Believe, View By Appoin...

Posted: 12-Jan-2018 Tags: 2016 Mazda 3, Mazda 3, Mazda, 3, Used Mazda



Mazda 3 SP 1.5A

\$98,300

\$11,190 /vr

29-Apr-2016

1,496 cc 33,000 km Sedan

Available PREMIUM 40

Just Arrived Sporty White Mazda 3 Model! Most Popular Mazda Sedan For Your Family And Daily Usage. Fuel Consumption At 15Km/Litre, Very Clean Interior And Own By Non Smoker, Fuel Saving Yet Powerful D...



Mazda 3 HB 1.5A SP

\$81,800

\$8,930 /yr 10-Jun-2016 1.496 cc

26.153 km

Hatchback

Available

Viewing Strictly By Appointment Only, Three (3) Years Warranty By Agent,

Posted: 03-Jan-2018 Tags: 2016 Mazda 3, Mazda 3, Mazda, 3, Used Mazda

Posted: 06-Dec-2017 Tags: 2016 Mazda 3, Mazda 3, Mazda, 3, Used Mazda

Mazda 3 SP 1.5A

\$78,800

\$8,510 /yr

30-Jun-2016

40,000 km

Sedan

Available

MSME18008089 / SME Motor Pte Ltd - Kaki Bukit ENTRY DATE & TIME: 15/01/2018 15:38 SUBMITTED BY: Farida Wen Ya Ying

#### SINGAPORE ACCIDENT STATEMENT

#### IMPORTANT NOTICE

- 1. Please report correctly the details of the accident to speed up the claims process.
- 2. This Form must be completed by the Policyholder and/or the Authorised Driver.
- 3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or witholding of material facts may allow insurance companies to repudiate policy ability.
- 4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.
- 5. Any false reporting may be referred to the Police for investigation.
- 6. This report will be forwarded by the insurers of the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore(GIA) for archiving and that copies of this report will for a fee be made available upon application by interested parties.
- 7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.

aforesaid.	
	ACCIDENT STATEMENT
Date Of Report	16/01/2018 15:38
Date Of Accident	15/01/2018 01:00
Exact Location Of Accident	COMMONWEALTH AVE WEST.
Country/State of Loss	SINGAPORE
C	DETAILS OF OWN VEHICLE
Vehicle Registration Number	SKZ3272M
Insured/Policyholder	
Name Of Registered Owner	BIZLINK RENT A- CAR PTE LTD
Co Reg No	200402911Z
Email Address	NOEMAIL
Mobile Phone No	
Alternative Phone No	OFFICE-92434885
Vehicle Particulars	
Manufacturer	MAZDA
Model	3
Exact Purpose for which vehicle was being used at time of accident	
Are you claiming under your own insurance policy for repair to your vehicle?	NO
If No, Please state action to be taken	THIRD PARTY
Vehicle Category	PRIVATE CAR
Insurance Company	
Name of Insurance Company	AIG ASIA PACIFIC INSURANCE PTE. LTD.
Type Of Coverage	COMPREHENSIVE
Fleet Policy	NO
Policy Number	0100782147
Cover Note Number	
Driver	
Name of Driver	KELVIN WONG JIA WEI

Name of Driver

G6910236R NRIC No 19/11/1992 Date Of Birth INDOOR Occupation 07/09/2017 **Date Of Driving Pass** 

0 YEAR AND 4 MONTH **Driving Experience** 

MALE Gender

(LOCAL) +65-91467898 Mobile Number

Fax Number

Contact Number

NOEMAIL EMail Address

15760 JALAN CAMER 9, BANDAR PUTRA 8100 KULAI, JOHOR Address

Postcode

Was driver an employee of the insured's Company NO

If No, Relationship of the Driver with the Insured

Vehicle Registration Number of Driver's Own

Vehicle

OTHER - HIRER

Insurance Company of Driver's Own Vehicle

General Information of the Accident

Type Of Accident

CHAIN COLLISION

Weather Conditions

**CLEAR** 

Road Surface

DRY

Other Information

Was any foreign vehicle involved in this accident?

NO

Number of vehicles involved in the accident

Was any body injured in the Accident?

NO

Was any injured conveyed to hospital by

NO

ambulance? Was any other material or property damaged?

YES

I have been approached by unknown person(s)

NO

soliciting/offering accident claims assistance.

Number of Passengers (Including Driver)

1

**Details of Police Action** 

Was the accident reported to the police?

NO

If Yes, Please state which Police Station

Was notice of intended Prosecution given?

NO

If Yes, against whom?

#### **Circumstances of Accident**

I WAS DRIVING STRAIGHT ALONG COMMONWEALTH AVE WEST LANE OF 3 LANES. TRAFFIC LIGHT TURNED GREEN, I PROCEED TO MOVE ON, SUDDENLY, I FELT AN IMPACT VEHICLE B COLLIDED ONTO REAR PORTION OF MY VEHICLE AND CAUSED MY VEHICLES SURGED FORWARD COLLIDED ONTO VEHICLE C REAR PORTION. AFTER THE ACCIDENT, I ALIGHTED AND REALISED THERE WAS TOTAL 3 VEHICLES GET INVOLVED. I WISH MAKE A REPORT CLAIM AGAINST VEHICLE B.

#### Attachment(s)

Are accident photos available for attachment?

YES

Was there any video captured by Car Camera?

NO

Was there any audio recorded?

NO

#### **DETAILS OF OTHER VEHICLE PROPERTY 1**

Vehicle Registration Number

SHA7256H

Vehicle Make/Model/Colour

**Details Of Properties** 

VEHICLE B

Vehicle Category

TAXI

Name of Driver

NRIC/Passport Number

Contact Number

Address

Postcode

Insurance Company Name

Nature Of Damage

No. Of Passenger (Including Driver)

### **DETAILS OF OTHER VEHICLE PROPERTY 2**

Vehicle Registration Number

SHA2622S

Vehicle Make/Model/Colour

**Details Of Properties** 

VEH C

Vehicle Category

TAXI

Name of Driver

NRIC/Passport Number

Contact Number

Address

Postcode

Insurance Company Name

Nature Of Damage

No. Of Passenger (Including Driver)

#### Accident Sketch Plan Pg. 1

#### SKETCH PLAN

#### **IMPORTANT NOTICE**

- 1. Please report correctly the details of the accident to speed up the claims process.
- 2. This form must be completed by the Policyholder and/or the Authorised Driver.
- Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or withholding of material facts may allow insurance companies to repudiate policy liability.
- The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.
- Any false reporting may be referred to the Police for investigation.
- The report will be forwarded by the Insurers of the GIA Records Management Centre established by the General insurance
  Association of Singapore (GIA) for archiving and that copies of this report will for a fee be made available upon application by
  interested parties.
- By the lodgment of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.
- 8. Consent under the Personal Data Protection Act (PDPA)

lunderstand, acknowledge, agree and consent that:

- (a) My insurer, my workshop and the General insurance Association of Singapora ("GIA") may/arc permitted to collect, use, disclose and/or process my personal data/personal information set out in this (form) and any other personal information provided by me or possessed by my insurer (egilectively the "Personal Information") and disclose and transfer such Personal information to all insurer(s) who have insured vehicle(s) involved in this accident (all insurer(s) who have insured vehicle(s) involved in this accident shall be collectively referred to as the "insurers"), the insurers' lawyers/law firms, the Monetary Authority of Singapore and any relevant government agency/authority (such as the police), for the purpose(s) of :
  - processing, handling and/or dealing with my claims including the settlement of the claims and any necessary investigations relating to the claims;
  - (ii) investigating the accident and/or my dalms;
  - (iii) carrying out and/or dealing with my instructions or responding to any enquiries by me;
  - (iv) administering my claims (including the mailing of correspondence, statements, involces, reports or notices to me, which could involve disclosure of certain personal data about me to bring about delivery of the same as well as on the external cover of envelopes/mail packages); and/or
  - (v) complying with applicable law in administering, processing, handling and/or dealing with my claims. (collectively the "Purposes")
- (b) all insurer(s) who have insured vehicle(s) involved in this accident and the insurers' lawyers/law firms, may/are permitted to collect, use, disclose and/or process my Personal information for one or more of the above Purposes; and
- (c) my Personal Information may/can be disclosed by any of the insurers and/or GIA to their third party service providers or agents(including their lawyers/law firms), which may be sited outside of Singapore, for one or more of the above Purposes.
- (d) my Personal Information will also be collected and used to compile claims history for the purpose of fraud detection, investigation and management in present and all future claims.
- (e) the information so collected under (d) above may be shared / disclosed:
  - to all insurers and/or any other third parties that assist in evaluating, investigating, controlling or managing fraud, regulators, law enforcement and government agencies as reasonably required for the purposes stated, or
  - (II) for complying with requirements under any regulations, laws or court orders.

Policyholder's Signature Date & Time: Oriver's Signature (If driver is not the policyholds

(If driver is not the policyholder)
Date & Time: 16/01/19

Reporting Centre Personnel's Signature Name:

NRIC/FIN No.:

SMRAL Steady-traders, 32

#### Accident Sketch Plan Pg. 1

KETCH PLAN			
		-	A-SK432921
			B. 31/A 7 2 16 FM
			C. SAA 31225
		]	
		· · · · · · · · · · · · · · · · · · ·	
		4	annonwealth are stall
		₹¢.	Sylvan and Albin Comment
	STANCES OF THE ACCID	A II	i

Graight along commonwealth Ave west at center lane of 3 lanes. Traffic light tuned green, I proceed to move on full an Impact. Vih "B" collided onto that devition Suddiny Purged torward Vlhide rthide and CUNTON May portion. the accident, I aliquided and realised there was total 981 Myolved. against Medle 1 claim with make

DECLARATION

I/We declare the foregoing particular are true in every respect.

Policyholder's Signature Date & Time:

Oriver's Signature (If driver is not the policyholder)

Date & Time:

Reporting Centre Personnel's Signature Name:

NRIC/FIN No.:



# 新福德車廠私人有限公司

# NEW HOCK TECK MOTOR PTE. LTD.

1 Kaki Bukit Ave 6, Blk C #01-43 Autobay@Kaki Bukit, Singapore 417883 Email: admin@nhtmotor.com Website: www.nhtmotor.com Tel: 6747 9241 Fax: 6741 7276 UEN: 201718370K

BIZLINK RENT A CAR PTE LTD Blk 1 Kaki Bukit Ave 6 # 01-43

TP 1st Cop

JM6BM42A860331676

17/01/2018

xiao Chm

Accident date: 15/01/2018

Singapore 417883

Estimated repair cost for vehicle no: SKZ3272U MAZDA 3 4DR 1.5 A '16

CHASSIS: JM6BM42A8G0331676

	CHASSIS: JIVIODIVI4ZA8QUSS1070				
S/n	Qty	Items	U/price	Amount	
1	2	Front Head Lamp and	\$873.30	\$1,746.60	
2	1	Front Bumper		\$925.10	
3	10	Front Bumper Clip	\$6.50	<del>\$65.00</del> ~	
4	2	Front Bumper Side Retainer	\$28.70	\$57.40	
5	1	Front Bumper Emblem Logo ~~		\$74.40 ~	
6	1	Front Bumper Number Plate and		\$ <del>50.00</del> -30	
7	2	Front Bumper Lower Side Cover 20	\$58.00	\$116.00	
8	2	Front Bumper Fog Lamp (Links)	\$257.30	\$514.60	
9	2	Front Bumper Fog Lamp Cover Octob	\$42.70	\$85.40	
10	1	Front Bumper Reinforcement &		\$565.10	
11	1	Front Bumper Reinforcement Centre Cover	Creen C	\$92.70	
12	1	Front Grille Part		\$233.70	
13	8	Front Grille Clip 6	\$6.50	\$52.00	
14	2	Front Grille Side Chrome Moulding 😝	\$176.70	\$353.40	
15	1	Front Grille Top Cover		\$335.00	
16	1	Front Support Panel Coulced		\$469.70	
17	1	Front Support Panel Top Cover and		\$122.40	
18	8	Front Support Panel Top Cover Clip	\$6.50	\$52.00	
19	1	Front Support Panel Top Panel &		\$188.00	
20	1	Front Air-Con Condenser		\$987.00	
21	1	Front Radiator Nan		\$1,064.90	
22	1	Body Logo (Special Nett) &		\$ <del>750.00</del>	
23	1	Rear Boot Lid Buckled		\$957.40	
24	2	Rear Boot Lid Hinge M~	\$145.30	\$290.60	
25	1	Rear Boot Lid Emblem Logo 👍		\$74.40	
26	1	Rear Boot Lid Mazda 3 Logo		\$53.40	
27	1	Rear Boot Lid Skyactiv Logo		\$63.60 /	
28	2	Rear Boot Lid Side Reflector	\$265.00	\$530.00 ×	
		· <del></del> · · ·			

29	1	Rear Boot Lid Inner Lock		\$153.00 ~
30	1	Rear Boot Lid Inner Rubber は		\$129.30
31	1	Rear Boot Lid Inner Trim Board Clin		\$120.20 <i>\</i>
32	8	Rear Boot Lid Inner Trim Board Clip	\$6.50	\$52.00 <sup>~</sup>
33	2	Rear Tail Lamp Coulce &	\$509.40	\$1,018.80
34	4	Rear Tail Lamp Clip	\$8.00	\$32.00
35	2	Rear Tail Lamp Lower Bracket www	\$29.20	\$58.40 ×
36	1	Rear Bumper Detorned		\$1,074.80
37	8	Rear Bumper Clip Nov	\$6.50	\$52.00 30
38	2	Rear Bumper Side Retainer Nu	\$36.10	\$72.20
39	2	Rear Bumper Side Reflector (nulled	\$50.40	\$100.80
40	2	Rear Bumper Towing Cover LH Jelomed	\$16.20	<del>\$32.40</del> /6·20
41	1	Rear Bumper Reinforcement Bext		\$537.30
42	1	Rear Bumper Reverse Sensor (Special Nett) To wy	4	\$380.00 200(54)
43	1	Rear End Panel Dented		\$505.10
44	1	Rear End Panel Top Garnish Delac		\$185.10
45	2	Rear Fender Inner Trim Board	\$235.60	\$471.20 ×
46	16	Rear Fender Inner Trim Board Clip 🕯 🖰	\$6.50	\$104.00
47	1	Rear Spare Tyre Panel Top Cover Deled		\$355.00
48	1	Rear Spare Tyre Panel Inner Sponge Could		\$223.00
49	1	Rear Spare Tyre Panel & End Panel Sealant $$		\$450.00 60 (~)
50	1	Rear Exhaust Bed		\$1,075.80 998.50
51	1	Rear Centre Exhaust 😕 ~~		\$1,433.00

Subtotal :- \$19,485.20

13516.80

su: 840

# **Labour charges**

Labour Charges		60
To remove & refit cushion		\$280.00
To remove & refit reverse sensor		<i>≤ ⊃</i> \$100.00
To remove & refit body logo		\$300.00
To remove & refit air-con condenser, radiator, fan motor & top up gas		\$450.00
To check wiring		<i>6 ∂</i> \$1 <b>90:0</b> 0
Tuff kote		\$150.00
Towing fee		\$100.00
Panel beating	3710.	/890. \$3,000.00
Spray painting & C	) .	\$2,400.00 1400
To remove and replace exhaust pipe 180	Subtotal :	\$6,880.00
	Total:-	\$21,774.80
		26545.2
	told 15	363.44
	1/5- 2-	3 K.
	1/5 /2	Dups
		SIC) 12270
	( <i>J</i> , )	Sich Isa )



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

	Affiliated to Federation Inter	The second secon	
IRST CAPITAL INSUI	RANCE LTD	Ref : CS/FCI180010	)/2/Aqbe2
6 ROBINSON ROAD 16-01 CITY HOUSES	INGAPORE 068877	Date : 01-03-2018	
		Code: FCI2	
	Policy Particul	ars :- THIRD PARTY CLA	IM.
Insured Veh.	SHA 7256H	Veh. Inspected	SKZ 3272U
Policy No.	D-18088936MFSH	Coverage (\$)	0.00
Claim No.	D18000430MFSH	Excess (\$)	0.00
Assign From	KAREN TAN	Assign Date	17/01/2018
	Venicle P	articulars & Condition	
Make & Model	MAZDA 3	c.c	1496
Engine No.	HIDDEN	Year of Reg.	2016
Chassis No.	JM6BM42A8G0331676	Colour	WHITE
Odometer	66644	Steering	IN ORDER
Brakes	IN ORDER	Modification	STANDARD ALLOY RIM
General	GOOD		
	Con	ditions of Tyres	
	Size	Make	Balance
R/H Front Tyre	205/60 R16	COMPASAL	6 mm
L/H Front Tyre	205/60 R16	COMPASAL	6 mm
R/H Rear Tyre	205/60 R16	тоуо	6 mm
L/H Rear Tyre	205/60 R16	тоуо	6 mm
	Descr	iption of Damages *	ASTROPORT A COMPANY OF
THE VEHICLE SU	STAINED DAMAGES AT THE	FRONT AND REAR PORTIO	ON.
DAMAGES SEE D	ETAILS.		
	Gen	eral information 🎉 🕸	
Accident Date	15/01/2018	Inspection Date	17/01/2018
Survey held at	NEW HOCK TECK MOTOR	PTE LTD	
	1 KAKI BUKIT AVENUE 6 # SINGAPORE 417883	01-43 AUTOBAY @ KAKI BU	UKIT
1.		Remarks:	
B)THE INSPECTION	ISISTENT TO ACCIDENT RE ON WAS CONDUCTED ON A' DE TO YOUR INSTRUCTION:	WITHOUT PREJUDICE" BA	SIS. SED REPAIRS.
Control of the contro		ate Days of Repair 🥌 🚼	to the authorized statement of the control of the c
2 190 CT 3 101		The second secon	



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 3

#### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SKZ 3272U

Qty	Description of Parts	Condition	Estimate By- Workshop (5)	Our Adjusted
	REPLACEMENT OF PARTS			
2	FRONT HEAD LAMP @\$873.30	CRACKED	1,746.60	1,746.60
1	FRONT BUMPER	DEFORMED	925.10	925.10
10	FRONT BUMPER CLIP @\$6.50	NECESSARY	65.00	30.00
2	FRONT BUMPER SIDE RETAINER @\$28.70	NECESSARY	57.40	57.40
1	FRONT BUMPER EMBLEM LOGO	NECESSARY	74.40	74.40
2	FRONT BUMPER LOWER SIDE COVER @\$58.00	DEFORMED	116.00	116.00
2	FRONT BUMPER FOG LAMP @\$257.30	CRACKED	514.60	514.60
2	FRONT BUMPER FOG LAMP COVER @\$42.70	DEFORMED	85.40	85.40°
1	FRONT BUMPER REINFORCEMENT	BENT	565.10	565.10
1	FRONT BUMPER REINFORCEMENT CENTRE COVER	CRACKED	92.70	92.70
1	FRONT GRILLE	CRACKED	233.70	233.70
8	FRONT GRILLE CLIP @\$6.50	NECESSARY	52.00	20.00
2	FRONT GRILLE SIDE CHROME MOULDING @\$176.70	СИТ	353.40	353.40
1	FRONT GRILLE TOP COVER	DEFORMED	335.00	335.00
1	FRONT SUPPORT PANEL	CRACKED	469.70	469.70
1	FRONT SUPPORT PANEL TOP COVER	CRACKED	122.40	122.40
8	FRONT SUPPORT PANEL TOP COVER CLIP @\$6.50	NECESSARY	52.00	20.00
1	FRONT SUPPORT PANEL TOP PANEL	BENT	188.00	188.00
1	FRONT AIR-CON CONDENSER	BENT	987.00	987.00
1	FRONT RADIATOR	NOT NECESSARY	1,064.90	-
1	REAR BOOT LID	BUCKLED	957.40	957.40
2	REAR BOOT LID HINGE @\$145.30	NOT NECESSARY	290.60	-
1	REAR BOOT LID EMBLEM LOGO	NECESSARY	74.40	74.40
1	REAR BOOT LID MAZDA 3 LOGO	NECESSARY	53.40	53.40
1	REAR BOOT LID SKYACTIV LOGO	NECESSARY	63.60	63.60
2	REAR BOOT LID SIDE REFLECTOR @\$265.00	NOT NECESSARY	530.00	-
1	REAR BOOT LID INNER LOCK	DAMAGED	153.00	153.00
1	REAR BBOOT LID INNER RUBBER	сит	129.30	129.30
1	REAR BOOT LID INNER TRIM BOARD	NOT NECESSARY	120.20	-
8	REAR BOOT LID INNER TRIM BOARD CLIP @\$6.50	NOT NECESSARY	52.00	-
2	REAR TAIL LAMP @\$509.40	CRACKED	1,018.80	1,018.80

Report Ref No. CS/FCI18001072/Aqbe2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 3

Qty	Description of Parts:	Condition	Estimaters// Worlding (5))	
4	REAR TAIL LAMP CLIP @\$8.00	NECESSARY	32.00	32.00
2	REAR TAIL LAMP LOWER BRACKET @\$29.20	NOT NECESSARY	58.40	-
1	REAR BUMPER	DEFORMED	1,074.80	1,074.80
8	REAR BUMPER CLIP	NECESSARY	52.00	30.00
2	REAR BUMPER SIDE RETAINER @\$36.10	NECESSARY	72.20	72.20
2	REAR BUMPER SIDE REFLECTOR @\$50.40	CRACKED	100.80	100.80
2	REAR BUMPER TOWING COVER @\$16.20	N/S DEFORMED	32.40	16.20
1	REAR BUMPER REINFORCEMENT	BENT	537.30	537.30
1	REAR END PANEL	DENTED	505.10	505.10
1	REAR END PANEL TOP GARNISH	DEFORMED	185.10	185.10
2	REAR FENDER INNER TRIM BOARD @\$235.60	BROKEN	471.20	-
16	REAR FENDER INNER TRIM BOARD CLIP @\$6.50	NOT NECESSARY	104.00	-
1	REAR SPARE TYRE PANEL TOP COVER	DEFORMED	355.00	355.00
1	REAR SPARE TYRE PANEL INNER SPONGE	CRACKED	223.00	223.00
1	REAR EXHAUST	BENT	1,075.80	998.90
1	REAR CENTRE EXHAUST	NOT NECESSARY	1,433.00	-[
	LESS 20% DISCOUNT			-2,703.36
			17,855.20	10,813.44
	SPECIAL NETT ITEMS			
1	FRONT BUMPER NUMBER PLATE (SN)	CRACKED	50.00	30.00
1	BODY LOGO (SN)	NECESSARY	750.00	550.00
1	REAR BUMPER REVERSE SENSOR (SN)	DAMAGED	380.00	200.00
1	REAR SPARE TYRE PANEL & END PANEL SEALANT (SN)	NECESSARY	450.00	60.00
			1,630.00	840.00
	LABOUR			
	TO REMOVE & REFIT CUSHION.		280.00	60.00
	TO REMOVE & REFIT REVERSE SENSOR.		100.00	50.00
	TO REMOVE & REFIT BODY LOGO.		300.00	100.00
	TO REMOVE & REFIT AIR-CON CONDENSER, FAN MOTOR & TOP UP GAS.		450.00	120.00
	TO CHECK WIRING.		100.00	60.00
	TUFF KOTE.		150.00	40.00
	TOWING FEE.	NOT NECESSARY	100.00	-

Report Ref No. CS/FCI18001072/Aqbe2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 3

Qty Description of Parts	Condition Estimate By Workshop (5)	(O)(/A(J)(4)(E)( (C) (S)
PANEL BEATING.	3,000.00	1,800.00
SPRAY PAINTING.	2,400.00	1,400.00
TO REMOVE AND REPLACE EXHAUST PIPE.	180.00	80.00
	7,060.00	3,710.00
GRAND TOTAL	26,545.20	15,363.44

	AND DESCRIPTION OF THE PROPERTY.
I REPORTED THE REPORT OF THE PROPERTY OF THE P	
RECOMMENDED COST OF LUMP SUM REPAIRS (12/3) (TO ITS PRE-ACCIDENT CONDITION).	TO SEE HOUSE IN COLUMN
	ASSESSED SAME OF THE PARTY OF T
TAITA BELLAAIRITAAIRITAIL	2007-1000
	A. 352 . 428 MA

Report Ref No. CS/FCI18001072/Aqbe2

MARKET VALUE: \$78,000.00 (EST)-PAPER VALUE: \$53,000.00=NETT VALUE: \$25,000.00



**ADRIAN LING WAI PING** 

B.Eng,AMSOE,AMIRTE,AMSAE-A,M.MATAI

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.